Be £ 3 B = A 5 A iR

(& F)

F41E
HHEs BILEY 177HUE v h R RS AigkE LIS it ]
FERK29410878 (+) FHE® BEILRRERAEER
EREE FH =& FERER ELEEFHRBE
ae (¢ =4 |m&E|Z 2w (¢ =2 |mE|Z 28 |u =& |7 E|Z g w (¢ =2 |mE|Z 2 & gﬁ)
14100m | 1| LWS 1&7E |EFE 1 13" 23 2(ka H=E |ERE 1 13" 46 3|[xH BHE |(FE 1 13" 57 4(ch¥ Em [B/ K |1 14" 09 0.0
5|28 XEA|=WLmEE 1 14" 16 6 |FEF FTE (I 1 14" 29 T|BR BRE |A# 1 14" 42 8|tB #MF [EXME|1 14" 45
24100m | 1|FH WME |EHE 2 13" 26 2|&F EBW ([REREI 2 13”7 29 J|HAR EW (2B 2 13” 35 4|BE X5 (A 2 13" 43 —0.4
5|%H EE |/\E 2 13” 52 6| X HEE (TN 2 13” 83 T|MEAZE |BH 2 13” 85 8 |mEH B |KM 2 14” 09
#@E200m |1 |&F TR |[REERE| 2 27" 59 2pkO HE |ER 1 27" 96 2|#L R |EKME| 2 27" 96 4|MEBERZE |BAH 2 28" 61 0.0
5|fEE BERE |#HF 2 28" 65 6|EW #Fx |HEE 2 28" 66 T\XKE E# | 2 29”7 12 8 (HH B (KM 2 29" 26
IS
S|#a@E800m | 1 |HIE  HI AR 2 2’ 19" 51 2y EF | 2 2’ 19” 54 3| 2E R |RIERE| 2 2’ 19" 74 4 (FIER HE |RE2 1 2’ 20” 66
5(/h& Bl [HW 2 2’ 28" 04 6 [BAIE ®f& |l 1 2’ 29”7 24 Ttk KRR |BR 2 2’ 31" 57 8K I |SETEER 1 2’ 36” 78
w|F@E1500m | 1 |hF XF [ 2 4’ 40" 97 2| HT AN 2 4’ 41" 19 3| Em f#hR |RE 1 4’ 43" 24 4\ EFREME |RURERER 2 4’ 45" 96
5(& fifE [EE 1 4’ 46" 99 6 |71 HFE (HEWL 2 4’ 47" 65 T|#EE B #IR 2 4’ 48" 07 8| X |RE 2 4’ 48" 27
v
H@100mH | 1 |HFE BH |ZE 2 15" 45 2 |1B% BE |EE 2 15" 65 J|EE Xk |SEEE| 2 16" 02 4|EHF XA |[EE 2 16” 08 +0.4
5K % & 2 16" 32 6|EH UVE|EEH |2 16" 32 T|8E #E |FKHE| 2 16” 38 8
T|££&400mR | 1 (¥ KT |HEN 2 52" 45 2|KE BExR |EKHE| 2 53" 02 3(FA V| KM 2 53" 25 4|1 —F |I® 2 53" 27
KB E# (TN 2 il #87 |ERHME| 2 #* A |XM 2 ¥ =XE |[IE 2
« wmx w2 (RN 1 WA =2 |EXME| 2 & feml | KM 2 BE XH |[I& 2
WgE  H9 | HEN 2 BIE BE ([BRHE| 2 WH B | KM 2 AR tiE |hE 2
I 5|E% ®A |HHAE 2 53" 69 6|BE WH$ |LE 2 54" 29 T|X¥E EF |SEEEH 1 54" 31 8 |srvomrvzas |EH 2 54" 62
& HL |=A 2 HMH Ea |LE 1 AR (3 |SEES| 1 HR B (ZE 2
J1” AHF B |HMAE 1 2H KX |LiE 2 WH MM |[SETEE 2 fFIEA Px |[ZE 2
BW Ex |(BHE 2 HH HE |L&E 2 BE Xk |SEAED| 2 WA X (ZE 2
Rl@EERR| 1 |ks BH 2 4m86 (+0.4)| 2 |#A = |{KK 2 4m72 05| 3|&€H EN |H/ K |1 4m68 (+02)| 4 |4eEH EHE |/\E 2 4m65  (-0.4)
5% FE  |RIEERE| 1 4m61  (+08)| 6 |BH EHi |EE 2 4m60 (00)| 7|A# H£A |K#B 2 4m56 (-04)| 8 |k[E XXHEE |#FH 2 4m46  (00)
H@EESH| 1 |SE S| HET 2 1m49 2im HOY|FEH 2 1m46 3| RE |FHEK 2 1m46 41% HME | LiE 2 1m40
5(lux EE [FEH |1 1m35 5 (@A 7E EM 2 1m35 VAN E = AT 2 1m35 8 |BEH mE |FE2 2 1m35
8
HBfAE| 1 |[XKE Z2F |(SEES| 1 [*=% 12m75 2|gI)l EBE|HHET 2 11m22 J|fEE EBE |HFH 2 10m34 4|EI8; IR e 2 9m75
5% KT |EME 2 8m37 6 |#BF I |FEE 2 8m26 7|EE #F |8 2 8m24 8 |EF EA |[=HE 2 8m21




